Cycle to Work Payslip Example

EMPLOYER EMPLOYEE DATE This figure does not show the cost to you.
Bob Fish Shop 30/08/2018 This is the total amount that the bike is worth
DEPARTMENT | M.I. NUMBER & TABLE TAX CODE PAY METHOD P M and does not include }I'C'I.lr Sﬂ?ingﬂ. You are
Unused AB123456A A 1000L Cash M1 paying for this amount before your income tax
YEAR TO DATE | RATE_ HOURS PAY " sfovorions or national insurance costs are calculated.
;ﬂtﬂlhfﬂ:a i;g: g: Basic Pay 3041.67B rT.uf ggl;g Because of this, you will pay less tax - typically
dxanhe . Me . ; .
Tax ’ 391.40 e, G 32% less if you pay lower rate tax and 42% if
ou pay higher rate tax.
N.l. Employee 254.36 y P Y g
N.l. Employer 291.96
N.I. Pay 9791.67
—_— - This figure includes your savings.
SPP 0.00 When you look at your salary you will be able
S5P 0.00 :
Sl Sl to see that your NET or take home pay is
G e (T = T, N iy Ticmiln. B m Bl fed u::ed'but not t-::: the value shown in the
Lol Pay’ or ‘Payment’ column. In the example
ension Employer TAXABLE :
PAY &r91.er 54576 shown, the full cost of the bike on a monthly

NON-TAXABLE 0.00 - basis is £25.00 but the NET pay is only
NET o

PAY

EMPLOYERS
ML

2145.91 reduced by £17.00 - as such it is the NET
279167 | M figure that shows your saving.




